_
(@)
ol E| E
% kel el
FRAME PLATE alel| =
=1 OO
- 324 _ ] R )
205
2X)M1 2. |
(ZX)M10 x 25 (2X)M10 x 25 o o
g @)
i 5
)
w
‘ [i'd
)
%)
%)
v
s4 S1 X
[e2][)
I
[aV] [sp]
(0]
o
2]
[
| 22
N ~c L
| ©o| N g©° =
o <
c 2 o
ElE
ale 2 % —
Q|3 ga w
S3 S2 =9
6 ~ =
2X) M10x25 (&X) M10x25 o5
_J 22
£ ﬁ g a
~ O 2
= o L|I_J
= Y
3 -
5 3513 M10x25 Ll
= T © =
< ° =IENBS
2 o|lwn|w
©
3 60 60 | |
£ 50 50 8 400
>
2 /\ / -
o
[e]
= H 2
: o ) L
o =
c
©
[}
&
o -
6 UJ
= | o
© ' Zlon|lw
2
C
[0)
g &
5 =
5 =
S =
3 Aoy 315 z
% S1, 2,53,538 7] g
=y == HEATING SURFACE & |0
R NETWEIGHT 105.5 kg 2 | L
= d fﬂ T OPERATING WEIGHT kg w
£ 5% PLATE MATERIAL  ALLOY 316 3
£ 24 g~
P PLATE GROUPING  1*59H/1*60H |5
PRESSURE VESSEL APPROVAL PED/UK

Ny

AlfaNova HP 200-120H (3287168751)

T
v
www.alfalaval.com
CUSTOMER NAME / REF. NO. TOTAL LENGTH 511.3 mm
TOTAL WIDTH 324.0 mm
TOTAL HEIGHT 990.0 mm

COMPANY / REF.

C€

4/16/2024
REV 0

/




